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YL ESEAREE A 111 B 2 A

T EEIEEEERAE FHE * BB

L —[EFAZEHI R SRR 1 Fow - (25%)

+ K 1
R(s) —-»(?——» 1 - - > ¥(s)
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(a) SRIEPAZEIRS Z475 2 BEAL LB T(s)=Y(S)/R(s) ° (8%)
(b) B2 K1 K K2 ZAH - {1525 Pty A F B el i 42 e ey s 55U 0L » ETEL
BRI ER s=-10 - (8%)
(©) FLH A 4R1E BAL A Pl A S i BB v (D) » (9%)

2. — BRSBTS (25%)
P+ (1 +K)s?+10s+ (5+15K) =0 Hrph » K>0 - 338

() ZARRRIRERRENRF » K 2 B KHUE B (7 IHLI% 240000 e 005 -
(15%)
(b) BLHF iy HAV R A2 Ry 57 (rads/sec) » (10%)
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g0 HGE
BT AR R 111 BB BT MR A
WE A A RLE @ o]

3. RRRERE | SH2FE 2 ZRAERRERIZG 0 Bl - (25%)

s Y(s
R(s) K fa = (::\)
—~ (H10Y(s+12)

2

(a) B H L EC EEHA(Laplace Transform)AY4%{E E 3 (Final Value
Theorem) AT © (5%)

(b) SKPAK Bz Ki RSB 8 B REER 2 TR, E(s)=R(s)-Y(s) » H i
A RE) B4R A o (Determine the steady-state error for a unit step
input in terms of K and K1) (10%)

(c) EFE K 7 (H{HEFBAERZ BT - (Select Ku so that the steady-state
error 18 zero) (10%).

4. TRENEN © FE2EIE 3 Z RS IER A 0 Bl 0 (25%)

» Y (s
RO+ K(s7-25+2) ®

= (s+2)fs+4) (s+5)(s+6)

3
(a) FHELEEARBEIE - (Sketch the root locus) (10%)
(b) SRMTHELR - (Find the asymptotes). (5%).
(¢) R{EZL4EEFfBE > K EEE - (Find the range of K, that
makes the system stable) (5%) _
(d) REEEL -2 5rBERE o (Find the breakaway point on
the real axis) (5%)




